N L L S SR R L TR s

. : c world ?
1 Which of the following is the largest inhabited riverine \sllx;;\d mr\:‘\:‘;l:: 6 Whi
(A) Doab ((D) Marajo (A)
(©)  Umananda (©)
(E)  Question not attempted : A (E)
et 2% 2 v r et s s o A AN wR? .
(A A i ::;{;‘(
(©) ST ©) “
(B)  orgaiaww £
Q
2 Which of the following river is not a part of Indus River System ?
(A)  Satlyj (B)  Chenab T
(©  Kosi (D) Rayl
(E)  Question not attempted
T3t 38 2 0t ft ey R 1t yorreft sy A 2 2
(A)  wagw ®) ==
©) = (D) T
(B) guf@wx
3 Which of the following Lake is not a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar 8
(C) Didwana (D) Pichola
(E)  Question not attempted
ﬁqﬁﬁmmaﬁaﬂqmgﬁa@ftw%ﬁgﬁa%ﬁ%?
(A) g=EET (B) T
(©) <reamr @ el (R
(E) rgafawy
4 Which of the following is the application of computer mostly used in medical field?
(A)  To provide assistance in surgery (B) To create advertisement
(C)  To visualize 3D objects (D)  To provide distance edycati 2
(E)  Question not attempted Ra &
PRIt 5 3 g 1 .0 e e, Rafeceter v i
(A)  wrea faferear & wemar 2y ' ®) g
(©) 3 iiesiazq Fl T a (D) mﬁmmm
(E) aiaﬁ-dgig - - o, P . EN miﬁ{‘.“'
5 Which of the following is not the class/calegory of computers? .
(A) Parallel Computing .
il (B)  Micro Computer
(€} Mini Computer (D) Mainfra ’
(E)  Question not attempted me Computer ¢
ﬁw%ﬁéﬁﬁ%ﬁz-mm%mi/%ﬁﬁm%:? .
(a) St e (B) T vy
© e : :

(D) Weedw apveaper
‘(B ogERaEE
All] ® S 2
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6 Which Indian h
as won the 2023 Ramon Magsaysay Award? (Choose the most appropriate option from below)

A Ravi K
(c) AviSdanan (B) Kailash Vidyarthi
Gh
© azal Alagh ¢ oy (D)  Gautam Adani =
(E)  Question not atternpted .,:lj
o el i,
ho”mmﬂ*@ﬁ{i@ﬂsﬁm(ﬁnﬁﬁmmﬁww
W) WEH z- ) e fermdt ™~
C) TSI 3T X : 0
© Q (D) S8l (-]
(B) guia@uss st
" Bk |
. . - 2
7 Critical Minerals Summit 2024, was held in which of the following city / U.T-?
(A) Chennai &G (B) Mumbai (Y l- )
(C) New Delhi r’ D) Kolkata 5D
(E)  Question not attempted : J
o~
Ffomrer frreew aele g fie) 2024, R st /e vt  omehfor fer a2 o0
A) == CB ®) T o
©) et e (D) T 5”;
Vi L aou
(E) SAgaiawd
o Vo)
8 The famous speech by ®t; Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
- (A) Trﬁrst and Co-operation (B)  Tryst with destiny =t
:‘N-,.s
(&) Tned with destjnT’ (D)  Tryst with honesty L}
(E) Question not attempted :
14-15 37T 1947 ﬁwnﬁaﬁqﬁammmmﬁm wmmmwé -
(A) s SRT B Refefeh !
© zesfrEfe D) e
G 0
() #[RATA . ™
e N, i . =5
9 The cities that were thlded into communal zones during the partition of India were- P
(A) Lahore, Bihar and/Calcutta !Z“:ﬂ
(B) Lahore, Amritsg;énd Hyderabad O
(C) Lahore, Amritsar and Calcutta i
i A i
(D) Amritsar, Calcutta and Jammu & Kashmir
(E)  Question not attempted Lo
ma'fawmzsa‘tmﬁrmﬁ%aﬁtﬁﬁzmmﬁ- ™
(A) @er, faen ST ST <
(B) @, AW &&?mm ‘ :»‘3
(C) @MER, SqaaT HATHFAFAT o
(D), AR, WW@?‘( SRy AR 1
(E) Fuf@ud : : v
3
[ P.T.O.
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_ . T —
bt T SR e i e s DDA . S

10 Given below are two statements:

. he chairmanship of
Statement (I): In April 1919, the Udaipur state government formed a Commlss.llon. under t Th Cheaniicion
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers.
advocated various recommendations for the benefit of the farmers. : 7 should be made
Statement (II): Officers of the Forcign Ministry of Indian govenment believed that a quick alliance s

. K. in Rajputana.
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajp
In light of the above statements, choose the most

appropriate answer from the options given below.
(A)  Statement (1) is incorrect but Statement (1) is correct.
(B)  Both Statement (D) and Statement (II) are correct.
(C)  Both Statement (I) and Statement (II) are incorrect.
(D)

Statement (T) is correct but Statement (1) is incorrect.
(E)  Question not attempted

! A e foeredt 4 & et swge swoeh
(A) =97 () 1o ? e e () 5@ ®) =) IRFE () A S
©) =7 0) s (1) 36T S e ) D) FE ) TR A T () wE
(E) srgaiaws
11 Which of the following is not a type of Iron ore?
(A) Lignite (B) Siderite
(C) Limonite (D) Magnetite
(E)  Question not attempted
Frifcfea § & =i de s s T
(a) foem= ®) e Rewe
©) fomme (D) AeE
(E) Irmiawm
12 Which of the following is an example of joint sector industry? (Choose the most appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronaut cs Limtied
(C) Oil India Limited (D) Steel Authority of Indiy Limited
(E)  Question not attempted
Frferfiaa # & 2 a1 v a1 3dm @ v 3eem 2 (ﬁqifammﬁm@
(A)  wma i safaracy fafies B) fegwm Wi e
~#C)  Ea e fafyre (D) HI i i gy e
(E) saf@ug
13

Which of the following is a mineral-based industry?
(A)  Food Processing Industry

(B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals Industry
(E)  Question not attempted
frefafea & & =7 ar af smafea s &
(A) T TEER I (B) =W 3T
) FEIm DY e e
" (®) 3{1?[?{?{ pe

. g
a1l &® [ P.T.O.
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=
%
V3

14

s

0N

%

g S
The average of 11 observations is 50. If the average of first six obscrvations is 40 and the average of last six
observations is 55, then the sixth observation is:

11 STt T 3faa 50 1.4k TEe we sraeiH @ shaa 40 B, st sifnn T sEEArE 1 shua 55 2, 6w e
&

A 35 B) 30

() 40 P 20

(E)  Question not attempted / 3rafa w1

The length, breadth and height of room are 12 m, 9 m and 8 m rcspcctiVClY- The length of the longest bamboo pole

15
that can be placed in it, is:
(A) 15m (B) 19m
(€ 18m (D) 17m
(E) Question not attempted
o A 12 Hi e, 9 Y <ivet 3 8 i S wﬁr@mmaﬁm%@zﬁmmmm[
) 157 ®) 19
(C) 18 D) 7 t=2462
(B) rgaf@ux

16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B)  110m
(C) 119m (D) 115m
(E)  Question not attempted
T TR ST 36 SR} 3 ey < staren aRfEr 660 T 21 Ty 14 Thex =vgT & dY et amer wifur 1 e,
(e o) T Brf?
(a) 84X B) 1107X

e 119HRT (D) 115HA

(E) rgafa gt

17 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
T R Y Prelt g A 20% AR W 400 3 3= 10% 1 AT FTY F g, I 3@ "G H FE HHIT T
AT =TfRe?
(A) T530 ~B) T550
(C) 500 (D) T520
(E)  Question not attempted / 3ﬂﬂﬁ_‘7 el

18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A) Govind Ranade (B)  Vivekanand
(C) Dayanand Saraswati (D)  Raja Ram Mohan Roy
(E)  Question not attempted
ﬁﬁ%@amwﬁﬁaﬁwuﬁiwm%m@%?ﬁ?
(A) Tifag TR B) faawre
(C)  ware arEd! (D) TSI e Ty
(E) rgaf@wx

Alll @ ? [ P.T.O.
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19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B) Mahatma Gandhi ‘

(C©) R.C. Majumdar { ry (D) Baba Amtc ‘ﬁ{'

(E)  Question not attcx’f;]'avlcd I';

2§ e i i e v g fered iy ™~

A) dwEme B)  wEre Al €0

AO) o wpw D) o

® ghawa ,3

™ h

20 T WA A o R \0
(A) s i ut gt o ot sherer i (B) e At 2t a1 o e e
D) wmaﬁqhaﬁghwwﬁ%ﬁl (D) T %1 U dae 71 i 2 e

(E) ruiE ot E”i f(u

0 o

21 gl a1 R SR ;:‘

Tl :: s vl

a. W?ﬁ'@'ﬂ I T BT

b. QAWM R e e

c.  H&TYFAT) 1. sfean e i::

d  wFoeTSE a\m v, e -

ﬁ%ﬁqmﬁﬂﬁ%a@wmmwsﬁm co

4 a-ULb-IV,c-ld-I B) a-lLb-Mec-1v,d-1_ &

(C) a-1V,b-TILc-Id-II (D) a-I,b-IV,c-MLd-1 '

(E) wrqufawy . N

0 | -

22 At the time of India’s Ifidependence, how many Riyasat were there in present day Ra_;asth'm (Rajputana Regi
(Choose the most approprlate option from below)

Wﬁmmﬁ%'ﬂﬂj 1T 3 TSTEAT (TSTgETT &) 3 fefefT feamere off 2 (ﬁmﬁﬁmmﬁwaﬁ)

(A) 29 o (B) 19 o
© 21 - (D) 25 |
(E)  Question not attempted / I w4 |
23 ‘Indian National Army’ (}NA) was created by- (Choose the most appropriate option from bélgiv)
(A) Netaji Subhash qgi}ndra Bose (B) Lala Lajpat Rai (")
(C) Bhagat Singh  «fi (D)  Bal Gangadhar Tilak =
(E)  Question not attéimpted ™~
v Srarrer e (A1), w,) e o g fr T2 (Pt 8 i s e
() TS g o ﬁ’ (b)  EEEN T i
) fae r“! (D) et e foeren Il
(E) Ffa 94

Alll ® [PT
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24

25

26

27

Match List-I with List-II.

List-I List-1I
a.  Chipko Movement I.  Afro Asian Conference
Bandung Conference II. A proposal made by big industrialists in 1944
for setting up a planned economy
c. Dr. P.C. Mahalanobis .  An environment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
i1 & e -1 7 firam ifeg
I -1
o fore ot e
ST TR L o R refegaeen wuifia o & fag 1944
F a2 SeaiadT ERT o T O e
c. e neeaiE L et e e ¥ o O wataer i
d. SN v, sveferet R g gl deadig aE
. weter aar o T o
Choose the most appropriate answer from the options given below:
412 R g fasredt & waifas I9gw® S A
(A) a-ILb-TLc-TV,d-1~ ®B) a-Lb-ILc-IV,d-II
(€©) a-ILb-Lc-IV,d-1II (D) a-NMLb-Lc-IV,d-1I
(E)  Question not attempted / 3TTANT T
In which of the following year United Nations adopted the UN guidelines for consumer protection?
dﬁwﬁﬁwﬁ%mﬁﬁmm%m@wéﬁwﬁﬁﬁﬁw
(A) 1985 ®) 1979
(© 1981 (D) 1983
(E) Question not attempted / STTARA 5=
Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(C) LIC - (D) IRDAI
(E)  Question not attempted
Frtferfaa & a2 o dhea T 3 shte i by et el 82
(A) & (B) L. .
© .. (D) ¥ W& T, a7,
(E) arafays e -
Who is the head of the Indian Audit and Accounts Department?
(A)  Attomey General of India : (B)  Finance Minister

(C)  Comptroller and Auditor General of India (D)  Prime Minister

(E)  Question not attempted

IR S e SR s R 3 @ 9 &2

(A)  RA & HETRIATd (31T ) (B)  fwdh ~
(C) Ra & Fries Ud Wercrmiss (D) wurEHE .

(E) rgafawsr

Alll & e f | | [BT.O.
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28

29

30

31

32

33

s Y e
Which of the following is mot a tohstitutional post?

(A)  Speaker (¥ ’ (B) G()vcr'n()r

(C)  The Chief Justice ' (D) RBI Governor
(E)  Question not attempted 3

Frafafaa i d qurm}mﬁfﬁ'm g

(A)  NEHENT ey ® ) Q ' (B) SqTE

(©) Her =iy L. (D) 3 aft 3 Tt

]
()  orgafa wsr i

As per the Constitution oflndn thc name of a state in the Union of India can be altered by -

2 (B)  Cabinet Committee \C
)

(A) Parliament
(©) Governor

o (D)  President
(E)  Question not attempted

(A)

o (B) ufrize afufa
(©) tmma — (D) Tegufd
(E) Srui@wy i

Identify the most appropriate English translation of the given sentence:

IE ST ATST gaT @ 3% R amet 81

(A)  Fresh air can be had only Outside. ~B)
(©)  He came outside for a brgath of fresh air. (D)
(E)  Question not attempted L™
. @D
Choose the most appropriate Hindi word for - “Endorsement”.
(A) ST ) (B) WIAFHAT
(C) OB T i (D) WREFET

(E)  Question not attempted

Which of the following best dekcnbes the function of control unit?
(A)  Perform the arithmetic operanons

(B)  Control the operations of 1 -memory, processor and input/output devices,
(C)  Perform the logical operations.

(D)  Convert the external data-fo form understood by computer.
(E)  Question not attempted

P & 7, e e 5 it s o e 2
(A)  siEnfordra aferer @1 o

(B) I, SR SR §HZ/3IBPqE IR 3 farert i FriwT
(C) amqﬁ?ﬂmzmﬁwm

(D) mm)mﬁmmﬁamﬁqﬂaﬁam
(B) wrqaf@uy P

Khadi Kamgar Arthik Protsahdn ﬂ(ojana has been implemented in the Raj

asthan st
(A) 16 July, 2024 )

(B) 13 July, 2022

(C) .14 July, 2022 v (D) 15 July, 2023

(E)  Question not anemptcdH

TSIEAH TST 7 @t gone aniden vieqres st g @ el €
(A) 16T, 2024

(B) 133, 2022
(C) 1499, 2022 (D) 15 9@ng, 2023
(E) :ﬂiﬁﬁag‘ﬂ a

All] ® 8

P

!.‘,t

(,. Ly
-’
i
i

¥ )
He came out to eat a little frésh air.
s
He gulped some fresh air outsxde

“i

ate frorﬁ[\g
&)
™~
™

mmamﬁma;m mw@%mmmmﬁmﬁf&gﬁwmmmﬁafmwm?

[ P.T.0
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34

35

36

37

All] ® 9

Match List-I with List-II :

List-I List-II
Scheme Launched

a. Shudh ke liye youdh I. 26 October, 2020

b. NlI‘Ogl Rajasthan Abhiyan II. 18 Dcccmbcr, 2019

c. Incflrzf Rasoi Yojana III. 20 August, 2020

d. Indlra Gandhi urban credit Iv. 24 February. 2021
card yo;ana

ﬁl%maigi%ﬁmﬁﬁq

a. e UIg I 263N, 2020 W

b R oo sl IL. 18 fREi, 2019 STC’ 55’

c.  IRUTEE A M 2092020 TR & :I_)_”

d. zﬁﬁrﬁmm%%zmtﬁw V. 24%@0, 2021 I

93926088

Choose the most approprmte answer from the options given below: 4 —8_’/

ﬁﬁqmﬁmﬁﬁwaﬁammwaﬁl B

(A) aIVb\HicIIdI (B) a-Lb-IgsNLd-IV

© aIIbIIIcIVdI (D) aIIIb{ c-I,d-1I

(E)  Question no ﬁ“‘% attempted / AT T :;

Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from
below) ]

(A) Southern Rg}asthan (B) Western Raj\adsthan

(C) EasternR _]a‘sthan : (D) Northern R}j?sthan

o
(E) Question nbt attempted

L]
‘si‘ztrmﬁmqiﬁflam(aaﬁ S . ) B P & & et S, s v T s &7 (e § 9 e 39

T aﬁ) _A &
A) 3R TeRe ®) e,
(C) q“a"fnawﬁi (D) B?IﬁTIEIPTIZ:LE

- I7ERa 99 |
Salt water crocod\b is main fauna of which of the following biosphere reserves?
(A) Panna ’ (B) Simlipal £y

(C) Great Nlcobar (D) Kutch  ¢¥

(E) Question ng t attempted s
@&Mmmm@ﬁw%ﬁﬁﬁﬁmsﬁamﬁaéwmsﬁa%? B

4 (B) e o)
(©) azﬁaamH . ® T )
®) ATy e
Which among thé following is the longest river of Rajasthan? -
(A) Khai (1) (B)  Chambal 'O
(C) Luni <I (D)  Sabarmatj ¢¥)
(E)  Question not attempted <
Pyt o & T 1wl el ) o 8 N
A st O B) g D
(© =t v~ D)  wEuE O
(B) oraid g9 =1

4

[P.T.O.
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iate option from below)
38  The Thar desert comprises the desert triangle of three cities - (Ch(?ose the n;o(sith aizf_ogzzt:erp
(A)  Jaisalmer - Jodhpur - Bikaner (B) Ja.lsalmer - f> p 43
] 1o T (D) Bikaner - Jaisalmer - Barmer
(C) Bikaner - Jaisalmer - Pali
uestion not attempted :
ir?‘tﬁngﬁﬁ aﬁqmﬁsﬁﬁ}?ﬁmnﬁﬁaﬁwmﬁa%. g & - (e A ward 3uge foreed )
(A) SR - S - (B) ST - S - A
(©) SR - ST - et (D) SR - ST - AT
(E) Irgaiaws
39~ Whatis the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulg
launched in Rajasthan in the year 2007-2008? : . : 44
T H d 2007:2008 3 st fvg e 3 e @t 35 st e e e (. 0%, T, @) 3 R GOZ W Gog
H TR F Y 1 T T
(A) 80:20 . (B) 60:40
(©). 50:50 D) 70:30
(E)  Question not attempted / ERERGRE]
40 Which of the following sector plays most important role in the econbmy of Rajasthan state?
(A)  Education Sector (B) Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E)  Question not attempted )
TSTET T2 3 301 3 & 30 1 8, areetferen w0 & o1fier wreey svm vt v 29
a) foemeas (B) SEWMaF -
(C) wregay D) Hwam
(B) rgaiaws
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa : (B) Cotton and Tobacco
(C) Teaand Sugarcane (D)  Coffee and Cereals 46
(E)  Question not attempted
Frafafea 3§ & 9 @ rerrm oer 6 T (3hT) HEA B2 (ﬁnﬁﬁmmﬁwgﬁ)
(A) ErTET AR (B) UM N T
(C) =TT (D) HH A I
(E) Srgaf@us
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for Ri oies uirced fhe
Rajasthan state during the financial year 2022-2023,
(A)  slum poor ' (B) rural poor
(©)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁ?ﬁuaﬁzozz-zs%aﬁmerfmmmﬁmmwﬁﬁﬁwﬁmm.m‘m‘m)mm a
Tttt g 3 forg foa o 3 .
(a)  goft s fady 1) o g
() wehfda (D) SR P
(B)  orgafesa
Al ® - B

Whic
(A)
©
(E)

A)
©
(B)

‘Do
(A)
©
(E)
(A)
©
(E)

Natl
(A)
©
(E)
iﬂ'a?
(A)
©
(E)

Col
(A)
©
(E)

(&)
©
(E)

Fir
(A
(C
(E
Ty
(A
L
(E

[P.T.O- A11]
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43

44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?

(A) Haldia refinery (B) Mathura rcf'mery,
© Koyah reﬁnery (D) Digboi refinery ¢ ﬂt
(E) Questlon not attempted g
ﬁz:%rﬁaaﬁﬁwﬁmﬁaﬁmwm%? !
(A) mﬁm @) wyq Rl
© Faeh i oy et foerd

"’“l

‘Doddabetta is the highest peak in Tamil Nadu. This is a part of which of the followmg famous mountain range?

(A)  Pir Panjal Mountains (B) Nilgiri Mountams ?
(C)  Aravali Mountains (D) Satpura Mountang,;
(E) Questhﬂ not attempted :

G [
Srerigr TS 61 T e < 2 o e i & e i T A T T 2

(a) e ‘ﬁﬁ M/ HerdwEE O

©) mﬁ ©) wggTTEE

(€) ouiay v
A |

Nathu La Pass is situated in which State / UT of India? W3

(A) Arunachal Pradesh (B) Meghalaya £

©) Jammu and Kashmir (D) Sikkim ;‘3

(E) Questlon not attempted 4

o T e e e e/ e e e 27 o
(A) ST (B) HeEH -»
(C) <L HTHHIT p) Tufrrm i“j
(B) Srafays : ™
Colour blind pérson is unable to discriminate between : W
(A)  Blue and green colour (B) Red and yellow é;;i},m
(C) Blue and red colour (D) Red and green coilour
(E)  Question not attempted -
auﬁvmﬁ’ag)wﬁﬁﬁmvﬁ%mﬁamﬁﬁmﬁm% s
(A) e STET TT (B) T LT
©) e sfCee i @) wetET .

weal
(E) FERaTd

o) O
First Indian spagecraft which will carry 3 members and will orbit for 3 days in Spw@e is :
(A) Bhaskar3 (B) NISAR
(C) Gaganyaan (D)  Spadex i:;
(E) Questf'#ﬁ not attempted
mmaﬁ&meﬁsmﬁﬁmaﬁta@mﬂﬁm fet 6 vz \:"’
A) smzﬁw (B) g uwuam »4
2 T (D) Ry
(E) SFIaRawd

11

&

[ P.T.O.
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48  Which of the following is not the allotropes of carbon?
(A) Diamond (B)
(C) Ethanol
(E)  Question not attempted
Fr=fafaa § & wF-ar wel # sy Q) T 82

Fullerene
(D)  Graphite

(A) WS (B) Il
L) | (D) UHTE
(B) orguiawx

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B)  15% Constitutional Amendment

(C) 16" Constitutional Amendment
(E)  Question not attempted

o srecftar wifererm seitem & o =armarer 3 =weied 6 danfraf 6 e 60 a & agER 62 7 AT
(A)  18aT Efoum dxiem B) 154t d@faram g

(©) 1691 diwum duiem (D) 17t Gferere Heive

() Srguiaux

(D) 171 Constitutional Amendment

50 Match List-I with List-II.

List-I List-IT
a. Goods and Service Tax L Article 82
b. Delimitation Commission - 1L Prime Minister
c. Survey of India - II.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV. Article 246 A
T=-1 % | FE-11 1 firae hifsmg
eI -1
a. G AAH I TR 82
b. Ui L St
c.  YIRHE a0 (@9 AT $feam) m. oI ot denfieh fanmr
d. T FH famr IV. 37T%0< 246 A

Choose the most appropriate answer from the options given below:
et faw o fersredti # & waifaes Iugw ST
(A) a-I,b-IV,c-1,d-1II

(C) a-IV,b-Lc-II,d-1I

(E)  Question not attempted / ﬂiﬁ'ﬂﬁ 9

B) a-Lb-ILc-NUL,d-1V
(D) a-1V,b-IlL,c-1,d-1

51 The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law® which was Propounded by -
(A) Ivor Jennings (B)  Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T 35 T WA ] ST I 3 Qe oy STaURoT ol O e ) ﬁﬁﬁ@?muﬁmﬁaquw
(A) IS ®) W Sz
A4C) UL (D) TS @A
® i 12
Al ® -

[ P.T.O.
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52  The actual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
11t derereffer s # forat ameaferr afi & e £ mé? (Frer & gardt I forehed )
A)  10% B) 9%
© 8% D)y T%
(E)  Question not attempted / 31'5[?#1?{ aa

53  GST Council is a Constitutional body established under the following article:
e e T AR s WA e 8, R e P @ e S50 % sta iy mé 22
A) 122 By 279A
©) 184(1) (D) 247
(E)  Question not attempted / STTATE F=¥

54  Which of the following tax generates maximum amount of revenue for the Government of India?

(A)  Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted

ﬁq%ﬁaﬁﬁﬁaﬁwmw,wm%fmmﬁ%ﬁmmmm%?

y Tmfid @RaRe) (B) AH
() fwhra (D) WY
(B) EARasd
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

Frferad § & 1 T T e T iRy A e E?

(Aa) are fafe (B) UrHfa®
«©) TE D) EH T
(E) Iquiaysd
56 Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?
(A) Nahargarh Fort (B)  Chittorgarh Fort
(C)  Taragarh Fort (D) Bhainsogarh Fort
(E)  Question not attempted
Freforfira 3 & for forct oY e & safong S Ffear shreTarchmt Sty e 3 et foh, *arf 3w aroreerr & fopelt s <
yrar 1 ST, @ e 5| Rl g ?
(a) ATeTTg fre B) fudtgng feen
(c) nrg fae 4Dy e faRen
(E) Faraud
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A)  Shekhawati (B)  Hadoti
(C) Mewati (D)  Vagri

(E)  Question not attempted

9 T ST % TErdd &yt 3 i e I sl sl &

FigaTeT, ¥R

(A) S@Erd (B) g
(C) Tardt ‘ (D)  arrgh
(E) raRa )

All] ® 13 [P.T.O.



https://www.geniusjankari.com

58  In which year was Kalbelia dance form included in UNESCO’s intangible heritage list?
WWW@@W@WM@ﬁmaﬁﬁmmwm
(A) 2011 (glﬁ (B) 2008 58
©) 2009 ey (D) 2010 4t
(E)  Question not attempted / ITaRa W “
: 1)
59  Fillin the blank w1th the most appropriate option : 9
PR o 5 2R e it
9,28,65,126," =
Ty Yt (B) 204 %
© 194 ™ (D) 206 L
(E) Questno{n Igot attempted / 3rgaRa wx g
60 In the gjven question, choose the number letter group which is different from the others
ﬁqmwﬁaatiwwmaﬁeﬁm%m%n I
(A) OE3 m -Bj PH3 0
© xL2 % (D) JBS (a»)
(E)  Questiomsot attempted / JTTART T3 o
61 When was Rajz.sthan Information Commission constituted ? =
(A)  April 28, 2006 ®B)  April 18,2005
(©  April 185006 (D)  April 28,2005 &
(E) Questlol;lﬂnot attempted )
TSI S{erT ST 51 Tt gy <
(A) 28 aaﬁaf"zoos ®) 183w, 2005 I
© 18 sl 172006 @) 283w, 2005 (D
(E) maﬁasrar ':5
62  Which of the following position is nor mentioned in the Constitution of India? :j:
(A) . Loksabha Speaker (B)  Prime Minister
(C) Chief Miglzister : (D)  Deputy Chief Mlnl{ter
(E)  Question'not attempted
ﬁqﬁr&gﬁﬁ‘wwmwmﬁmmmw%» M
(A) r«ﬁwniﬁw (B) W <
©) TRt (D) 39 r~
(B) ﬂaﬂﬁﬁ% g
63  Who among thg: following commonly serves as the Chancellor of State Umversmes?'
(A) Governgr{ (B)  Prime Minister =
(C) Minister of Education (D)  Chief Minister
(E) Questiontiot attempted (&
frafafaa § A% ﬁmﬁm@%mﬁ%wﬁﬂm@ \ ™
(A) TsFaersd (B)  wumwH <¢
©) e~ (D) Tl [
® oty S
6 4 Geostationary satpllltcs are positioned at km upward distance from eartp, Lsprface,
: meﬁmwm% fereft e oy gt e fovart ST &) v~
(A) 45990 (B) 26000
(C) 36000 (D) 55690
(E) Question not attempted / ajﬂ'fiﬁ B
All] ® ‘ 14
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65  Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted
IR ATk TS (aq) T (7o) & o ek dar -
(A) T IHTHTES T ARG e (B)
(C)  FHM AT, T HrerTgs v arft (D)
(B) rgafaux

66 Son river is a tributary of which of the following?
(A) Narmada (B)
(C) Yamuna (D)
(E)  Question not attempted
TR A AT e germE 1
(A) et (B)
(©) T (D)
(E) IruRaus

67 The Southern most Himalayas are knownas .
(A) Aravali ®
(C) Himadri D)
(E)  Question not attempted
R (Fer) 2feqor femrera 1 o o & ST SIT@T R 2
(A) IruEet —. AB)
©) fumh ®)
(B) rgafass

68  “ITeT, YI5q TSR HIT T IR &2
(C) =fFa=H ®)
(B) SRy

69 TN g @ frar ¥ wra: fr e 8 8
(A) £8B)
© o (D)
(E) 37‘:[61’(?1 oq

= -

(© g
(B) i

71 foparam og % 3 H S S A e e &
(8) S A e o
(c wryFd
(B) T 5

All] ®

" Shiwalik

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

I A1GLE VA BIZZIA 1

Ganga
Mahanadi

Himachal

Rrenferen
e

afed wer
el T

[P.T.O.
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T2 How many numbers trom 11 to 70 are there which are exactly divisible by 7 but not by 37
() Six (B)  Nine
(©) l;i\‘\‘ (D)  Seven
&)
() Question not attempted O
na mb‘f{‘_ et Tt wdsand @ st 7 okt sy § T 3 A I By
EVI @) e
(©) \f(g (D) AW e
(®) \“{dflﬂ oy 49
73 Arangg the following words according to dictionary arran gement: £
iR st o wrserareht (et TS ¥ SN safter )
a Except b. Expcct‘i
t v\‘? Excess d. Exit
C 1008¢ ¢ most appropriate answer from the options given belowd ()
ﬁ%ﬁq@ﬁm&ﬁﬁﬁﬂaﬁﬁm STYEH IR H| 4!
AN R db (B) b, dralc
© E‘ 3 d.¢ (D) ¢, dfayb
(E) Question not attempted / i W Q0
74 Chmsc‘ﬂiie venn diagram which best illustrates the three given clasgég:
ST SR T A R 1 A it ey e i & e
Flowers, Red, Fruits. . &
TN RS
: 0
~
» QU5
[
] : v
(E)  Question not attempted / SRREGRE
75 Which éﬁhe following two states have a Jjoint plan under Mahi Projs&}? .
(A) lgjs‘mlhnn - Haryana (B) Raja‘s;tl}an - Madhya Pradesh
(C)  Rijasthan - Punjab (D) Rajasthan - Gujarat
(E) C u\es}ion not attem.pt‘ed B
PR & & e 2 el et wheloen e g e 00
(A)  TFH - whewm (B) TS - WA e
(©)  TSHIH - Fr (D) TS - ToRr
(E) Sqafaww v
76 The chidftteristics of computer in which, computer can perform ‘:il;i)fferent types of tasks With the same ease is
known 883} - )
(A) Diligence ®) Spega_o
(©)  Versatility (B) Religlty
(E)  Question not attempted

e SRS -2 fafireen &, R gz fafrer e 3 el 1 T & e e

(A) = (B) “ﬁw‘;%m
©) edw (O) el

() rgaf@wy

Al ® 16 [PTO.
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77

78

79

80

81

All]

Select the related word from the given options :
Animals : Zoology :: Blood : ?

(A)  Entomology (B) Hematology
(©)  Pathologyr) (D) Anatofny

(E)  Questionnot attempted g
ﬁqmﬁmﬁﬂw&ammwaﬁﬁq (Y}
SR : RGO : 2 i
(A) AR (®) femEsh
(©) STt v ©) TR
() gafawar iy

628, 429, 183, 249, 416
From the above Sequence of given numbers, what is the sum of the unit dlglt of third number from left and tens digit

of the fourth number from the right?
W?ﬁmﬁwmﬁ%mﬁ aﬁﬁmmﬁm%mmam%aﬁ@mﬁm%mﬁmﬂﬁﬁ’

A) 6 \.
A) C“) _(B) 3 P
© 3 3 . D 7
(E) Question'r'hcst attempted / 3TTRG & :\

Sushil is the sonom-law of Bhumi’s maternal grandmother Sangita. Ravi i 1s the only son-m-law of Bhumi’s mother.

How Ravi is related to Sangita?

(A) Brother-in.law (B) Grandson e
(©) Uncle ¢ ‘ * (D) Husband Of; granddaughter
(E) Qucstxon[;;ot attempted et

vﬁﬁmﬁmwmétrﬁwﬁéﬁwm@mmélt%mwﬁmﬁwm%?
L0
Aa) aatsir?ﬂmi

(C) A%t
(E) gaia srar
Who among the %Tlowing established mobile reading rooms and libraries at various places in Rajasthan?
(A)  Komal Kothari ' (B Pt Jhabar Mal Sharma
(C) Acharya UISI (D) Swami Keshwanand
(E) Question eoit attempted e ,{*
e 2 Ry Tt 5 R S ¢ s T 8 ot e ) e
(A) FHSA aﬁ?;rq (B)  ufvsd gier weg i
(C) =T o] (D) @ FeraEw
(E) gaiayy gl
(e e
Which of the folldwing leaders led the Bijolia movement?
(A) Surendra‘Singh (B) Vijay Smgh Pathlk
(C©) Chuna Réni Punia (D) Kanwar Vl_]ay Pal
(E) Questionrfrgt attempted 4 f
Frrferfae 8 & Fvey Farsiifera aridver a1 e fram?
(A) g‘aﬁ’s vl (B) f%tmf%ﬁwﬁm
© g (D) wmm
(B) qaf@uy il
® 3 [P.T.0.
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82  Barkana water falls is situated in which of the following state of India?
(A)  Odisha (B) Karnataka
(C) Goa (D) Tamil Nadu
(E)  Question not attempted
Fricrer Tt & 2 s & Ry Trowr i s seaT o 22
(A) fsm (B) FAleH
(C) (D) aftrerrg
(BE) Irgufawy »
Which of the following mineral is non-metallic and inorganic?
(A)  Graphite (B) Natural Gas

83

(©) Coal (D) Petroleum

(E)  Question not attempted I
Fefafea v arafy ITuTicah Uef 3reTel e 29

(A) T (B)  urHRE g

© = (D) YR

(E) Srgai@wy

Read the Passage and answer the questions that follow: (Q. 84 t0 87)
Show

brings new studies, new research and new health warning
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry,
much of the so-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thing may be the rule - rigidly advocated by some doctors over the years - tha
breakfast is the most important meal of the da

y. Skip breakfast, you will be told, and there will be damaging consequences
for your health.

s. Nor do all the studies agree with each other. Often they ar:

which has a vested interest in the outcomes. An¢ 89
e decades does not emerge out of pure science bu

You can trace the roots of the advice to (surprise, surprise!
Kellogg family (owners of the €ponymous cereal company)
It has always been a peculiarly Anglo-Saxon idea. Peo

ple do eat breakfast all over the world but they do not necessaril
attach such great importance to it. Nor do countries without a breakfast tradit

instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the morning doesn’t really hurt the French very much. Until the fast food industry spread all over 20
France in the last decade or so, the French had much lower rates of heart disease than most English-speaking countries.

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like pancakes with suga
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-is-essential myth };a

actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers o
sugary cereals are quickly putting out new ‘low-sugar’ variations.
Some doctors still insist that the fj

) the American cereal industry and to such food faddists as the

ion see a sharp decline in public health. For

rst meal of the day may be the most important. But the scientifi

¢ evidence supports the
view that if you avoid breakfast nothing terrible will happen to you.

84  Complete the sentence by choosing the correct option: 91

In reality the benefits from advocating the need for taking breakfast,
&%) food Industry (B)  general public
(C)  French people (D) children

(E)  Question not attempted

All] ® 18 ' [P.T.O. A11,
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85

86

87

88

89

90

91

T R R S ———

According to the conclusion of the passage, breakfast -
(A) Contributes to an individual’s health. (B) Is essential and not to be skipped.
«C)  Skipping cannot‘harm you. (D) Is the most significant meal of the day.
(E)  Question not gttempted ( ,.'-,
In America, obesity and tooth decay have assumed the proportion of an cpldcmlc bccausc of the -
(A) Consumption of ‘savoury food (B)  Vested interest of the general public
L) Consumption OI,S“&“'Y cereals. (D)  Greek idea of bréakfast.
(E)  Question not attémpted 4
ot -t
Bogus means .
(A) Confident @ ((.B) False Ne)
© Bg W (D) Tre ()
(E)  Question not attempted e
'~
Identify the most appropriate idiom which can replace the underlined words: (24
Rohit has the reputation of complicating and confusing things when any issue is'raised in the meeting.
(A)  got our wires trassed (B) asclearasmud *
<€€) muddying theWaters (D) incomplete shambles
(E)  Question not attempted
W W
Which of the followifgfacility is mainly provided by E-mitraplus initiative of K%Tasthan?
(A) Video conferericing w3
(B) To apply for bitth certificate, domicile etc. ?‘"
(C) Payment facil@for individual firms ' . ﬁl)
(D) GIS based Degﬁ’sxon Support System =
Question not a“ftempted e
oo 5 o < e s e ot & s e g s e 7
(A) dfed FHET (B) - =0 YO 9, 31Ram & fore smaeT ua
(C) fafire afagmT epTar i gl & (D) St o1, . et fofe weres omedt
() oEt@ud (7] , ™
w &
Which of the following-input device is used to input temperatures and moistore Eitc 2
(A) Sensors 28] (B) Webcam t_ﬂ
(C)  Scanners > (D) Joystics Q .
- _ =
(E)  Question not dttémpted el
ﬁmﬁfﬁaﬁaaﬁqmmaﬁmﬁmwsﬁrmﬁmm) F0 ¥ v BT S & 0
Ay @ @ (B) awaH O
©) W s o TR S
() ogaf@sd .y <
I~ . N
Identify the word thatgan best substitute the given expression (C,‘L:Z

One who is 100 strong-1p be defeated.
. (B) Invulnerable e

(A) Invincible v
(C) Indefatigable .| (D)  Insolvent i
(E)  Question not attempted

19
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92

93

94

95

96

97

98

; - ive clow:
Identify the most appropriate antonym of the given word from b

APATHY .

(A)  Fervor (B)  Stoicism
(C)  Stupor (D) Aloofness
(E)  Question not attempted .

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signaturc

ﬁwﬁ%ﬁmﬁm%ﬂaﬁa%ﬂ%m@mﬁﬁw@@ﬁmﬁ%z&m%{tmzﬁm &yt i arfer T 87

(A) TS faam, 1976 (B) T arfufyam, 1963
(C) T Afufam, 1967 (D) T fAEw, 1973

(B) orqafawy

“shrater o, et 3 & e el § forar star &y

(A)  TuT IRy (B) SWH e
(€) wETTRy (D)  FAEY
(E) STgafawer

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali / (B) Nepali

(C) Sindhi (D)  English
(E)  Question not attempted

ﬁﬂ%ﬁgﬁﬁ%aﬁ#ﬁwdﬁunaﬁramﬁagagﬁﬁmﬁaﬁ%?

(A) Huret (B) Ut

() fauft (D) SR

(E) iz w

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted
o fegere o 2eren 2 fov R A e e Qe Tt PR 2022 ST fv T
(A) i g (B) WA Ngar

(C) wFEaE (D) YT A ST

(E) wrqufa gy

Which one of the following is rot a Fundamental Right under the Constitution of Ingdjy?
(A) Right of Freedom (B)

(C)  Right to Property (D)
(E)  Question not attempted

frefertiaa # & 27 A vredy dir & qea i s 78 8

Right to Education
Right of Equality

(A)  EdEFar i e @) R it
()  gaf = sften (D) WWTAT T 3fRyerye

(B)  STgafe s
® ' 20
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100

101

102

103

104

Al1]

Choose the most appropriate option to complete the given sentence.

They withheld his results. He
(4J  doesn’t furnish

(©)  had not furnished

(E)  Question not attempted

the proof of his age.
(B)
(D)

has not furnished
didn’t furnish

Choose the most appropriate option to complete the given sentence:

knock on
woollen cap.
(A) a, a, the, the
(C) the,a, , the
(E)  Question not attempted

There was

door. I opened it and found

(B)
(D)

small dark man in blue overcoat and

a, the,a, a
an, the, an, a

Which of the following three years were declared as Plan Holidays from five year plans in India?

(A) 196910 1972
(C) 1961 to 1964
(E)  Question not attempted

(B)
(D)

1957 to 1960
1966 to 1969

AR Aot Aerrett & & Frey § & 1 & i aut oy AT STaehieT S faR T om?

(A) 1969H 1972 (B)
(©) 1961% 1964 . (D)
(E) gaia

1957 & 1960
1966 & 1969

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

< gfyar 39 sTeaR At frare gewmar s Frefafaa § & fora ad # sy <l g oft?

(A) 2012 (B)
©) 2007
(E)  Question not attempted / TR 5=

Rajasthan handicraft policy has come into force on

(A) 23 November, 2023 ®
(C) 18 September, 2022 D)
(E)  Question not attempted
TSTEIT gyt i ran] gs ol
(A) 239, 2023 (B)
(€©) 18 fardew, 2022 D) .
(E) gafayd
NITI AAYOG was established on: (C
(A)  1# January, 2015 (B)
(C)  15% August, 2014 (D)
E uestion not attempted ;
;%a;nﬁmﬁﬂépeﬁ: (ﬁmﬁﬁmmﬁmﬂ'})
(A) 15Fad, 2015 B)
(C) 15377, 2014 (D)
(B) Srgai@uy
21 _

®

(D)

2006
2010

17 September, 2022
20 December, 2023

17 fods, 2022
20 fagsw, 2023

hoose the most appropriate option from below)

1# January, 2014
15% August, 2015

1 SHatt, 2014
15 37T, 2015

[ P.T.O.
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105 Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  1DBI - Shoft/Term Loans
(C) RBI- l.onggq‘crm Loans (D) SBI - Morictdry Policy
%) put
(E)  Question not attempted
Freafisfire i & aifira et g, Wy
(A) A 3 D i e (B)  oms. &, aftoqré, - srermIfer T
(©) 3, ). defemferas wwor (D) ww. aft, arrd. wivfe fifa
(E) Ngﬁﬁasréf"' v~
106 How many industrics were reserved only for public sector before the dgr%ulatl(m of the Industrial Sector in 19917
(Choose the most&ippropriate option from below)
1991 3, Seifiren @ 3 fafirre 2 0, erer ardorties 8 3 fora Rrey g :m'(fimit’ (e 1 arerdy I Pk )
@A) 17 ! B) 20 [
B *
© 14 o (D) 24 o
(E)  Question not attempted / 31w I W
o ) »
107 57 & -0 Troa- i oA warterameht 7t .
(A) SeArEs . (B) Ry O
© o @) T
(E)  JAgaia@ wurt) g—;@;
< : P
108 qﬁ%a’rmﬁq%%: ve)
- 1« R g ot s w3 o P e —
o - 11 - e gt 35 e el @ o e of @ s -
Wm%a@ﬁﬁmﬁWﬁ%wﬁ%mﬁwﬁ ]
(A) FAITEER, g wEm i ) (B) 1 SIS e &
(€) FIUEHITEEmE (D) wmi«"rg )ﬁﬁmmmaam
(E)  w7gafa w4r) g
<t [~
109 Frafafea § & s eaft s o
a. g g b. St C;
.
I -l d. Bl vl
€. 9 v
A fav o forrert i & warfferes sagew s o aum AR O
(A)  Faeb,ddite @B) @b, c {yd
(C) ?‘ﬁl?{a,cgﬁie (D) Q.‘cﬁ\‘u,dﬁ?c
® sl
(28] )
110 ‘Deputation’ % %fﬁzﬁ i gurde veg . I
@) Faf e )
© fafs ) wfngfa
(E) gt
All] ® 22 [ P.T.O.
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111

112

113

114

All]

P 8 <ol 1y w9 -

(A)  ffa (B) i
© R (D) hfaE
(E) Tgaia s

Cooperative movement in Rajasthan region was started in the ycar . (Choose the most appropriate option

from below)

TSR & H HEHR A 6 AT ad it g8 | (P 7 & w39 fahed )
A) 1914 (B) 1904
(© 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E)  Question not attempted

i 3§ v feg e &:

HT (I): Aifeaw urg 1 gt & Jar & wnfea o Siar & ifen 7% sreafers fafsmaresh g 81
T (1) FFETH T ARSI & YaeraT & Fihar T 2l

S et ¥ e 8, A R Rt § § Fd Suge Sw

(A) o (I) TTTd & QfehT e (11) e R (B) & (I) 3R =y (I1) IHT eI 8
(C) = (I) 3 YA (1) ST & 1T 2l (D) A (1) WEt ? AfFT T (1) T R
(E) Iuiayd

Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post .
(B)  Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various computers
(E)  Question not attempted
AER gear F, cgE dhaf f ger, f T o {1 ww s feftfie st & R R
EIGIES
(A) Wi %1 ETeh BT We & ferg
®) Tl deed #i va-gat & sirgn
(€)  Fetie quHETHT F syw # wigd # wa & fer
D) i gt 3 srfirg g o e & g
(E) uiayus
& 22 [ P.T.O.
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115 In which year the Indian Space Rescarch Organisation (ISRO) was set up?
ﬁw%ﬁgaﬁammgﬁmmmafﬁmsermasnowﬁwwm?%ﬁzﬂ
(A) 1952 W (B) 1962 P
& 1969 ™M (D) 1972 M

@ty
5y

(E)  Question noﬁ&lcmplcd / Wﬂﬂﬂﬁ a4

Y

lacility is not provided by the Rajasthan Sampark Portai_? :

(A)  Automatic gpbjcch Recognition (ASR) (B) * Grievance RCdr‘{S.S?l

©) aiIs inlcgratgi"(un?l and data analytics
. =8

(E)  Question not attempted

M@aﬁ%ﬁqﬁgﬁmmﬁﬁ%mm?ﬁzﬁaﬁ%} Ve

116  Which of the f‘olkn‘\;‘igg {

»

P |
(D) Vidco-confcrcnc'lr_lg

AA) a@mv{iﬁﬂﬁmﬁmmsr{) (B)  frehrerdi = ey,

© S Wimmg‘ﬁwaﬁwﬁﬁmﬁw (D)  fifeat skl w4
(E)  sgaf@wsrp.

sl o
117  Fill in the blank bfaloosing the most appropriate option: ~:
e | .
He was indignant ¥ being cheated by the smooth talk of the salesman. ::;
(A) at ‘ (B) with

©) in (D) of ;
. J i : W

(E)  Question notgﬁempted ;
2] ¥y

“ g
118  Change the direct sEech into indirect speech by selecting the most appropriate;option from below:

O
O
6’n‘{vay.

4

He said, “I do not wish to sge any of you, go awa-y.
(A) Hetold thattie did not wish to see us and ordered us to go away.
~AB)  He said thatthe had not wished to see any of them and ordered them to g

(C) Hetold thaﬂh‘é did not wi.sh to see any of them ah(f ordered them to go ai?/?isy_

(D)  He said that he does not wish to see any of us and ordered us to £0 away.

(E)  Question notéttempted ' ({n]
34 M

119 Change the sentenc%‘gnto passive voice by choosing the most appropriate optiQE
They feed the seals";? the zoo twice a day. . g}:‘
AK)  Twice a day,the seals are being fed at the zoo. (B)  The zoo feeds tl}&se
(C) They feed tl{_g_geals twice a day at the zoo, D)

(E)  Question no‘xﬁ'ttémpted

als twice a day.
Tl3e seals are fed.twice a day at the zoo.

=

120 In Rajasthan puttin‘gg gold nail between the teeth is known as:- ::S;
(A)  Borla (B) Daamna "
o ,

(C)  Baari by (D) Choonp B

(E)  Question notaptempted Ly
TSTEITH # it % ofig- A Y et T o) e R S 82 o

(A)  ERen v (B) & L

(C) = - @); X v

(B)  rgaf wa i
All] ® . 24 [P-T'O'
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121

122

123

124

All]

In which Rajasthani folk dance, dhol, bankiya and thali arc used as the main instruments?
(A) Gair (B)  Ghudla
(C) Chang 1{s) (D)  Dandiya
(E)  Question not attcmfﬂcd

T % R S o 15, aﬁmaﬁmﬁmmwmmmmnﬁmméa

5

0

M

(a) X ™ (B) & o
© 00 () =i &
(E) orguia v ‘»{' o
i ¢
Where is Nataniyon Ki Ha—\-rcflx situated? |
(A) Lakshmangarh 0 (B)  Jhunjhunu Lo
(C©) Churu s (D) Jaipur (")
(E)  Question not attemptgd i3
o I gaelt hEl W ﬁ'-?ﬁ 27 P
(A) <HITTG i 0 ' (B) 3\13\11 (§¢)
© T =) (D) X o
(E) SrgaRawx = v~
- ™
Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P. Sarabhai O (B)  Potti Sriramulu o
(C) Sriram Gandhi {7} ' (D) Ramlal Gaya ™
=

(E)  Question not attempted
wwﬁﬁmmmﬁlﬁmﬁmmwaﬁm%ﬁmwwﬁm}& ﬁm&aﬁw ITH g A

Tt <ffl 0
(a) A & ®) e sy 2
(©) e ™ D) T w
(E) IaRa 94 ™ ' il
Lo (X0
Given below are two state(nents ™
Statement (I): In the context of the revolt of 1857, the term revolt refers primarily @'the uprising of the civilian
population. ™ 3 ™

Statement (II): Mutiny #as a collective disobedience of rules and regulations withirf-the armed forces.
In light of the above staterfients, choose the most appropriate answer from the options(;{'en below.

(A) Statement (I) is incorrect but Statement (II) is correct, =i
(B)  Both Statement (I) %idl Statement (I1) are correct. i
(C)  Both Statement (I) and Statement (II) are incorrect. .
(D) Statement (I) is Corrsz! but Statement (II) is incorrect, \f‘
(E)  Question not altemat d :’?
i A FYT ﬁq m % 4 [:1

o (I): 1857 % ﬁﬂa(t%@m)%wfﬁﬁrﬁzwmmﬁ@m AR ST ) g
o (11): forte (wafereft) warg arcif & it Frait st fafemil ) oo s ey o

mmﬁ%mﬁﬁ%mmﬁmﬁﬁmﬁmwﬁl =

(A)  HEF (1) T & Afthr g (1) |él B (B) R (1) ST (11) Dty 3
(C) YA (1) R FH (11) T & 71t B ) T (1) W R T o (1) e 2y
(B) - ITgera o

25
® . [P.T.O.
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: iven by henna?
125 Which of the following is responsible for the dark brown or reddish colour g

(A) Hydroquinine (B)  Luciferin
(C) Melanin (D) Lawsonc

(E)  Question not attempted

B TR T v sy et 23 g v i @ A Frsvare A 7

(A) TR B) e
© et (D) =
(E) guRa

126  Zinc reacts with dilute nitric acid (aq) to give
ﬁuﬁtfﬁavﬁw%mmﬁm A (aq)fmﬁﬁm%m%
(A)  Zn(NO,),+NO +H,0 (B)  Zn(NOy), + H,0 + N0
(©)  Zn(NO,),+H, (D)  Zn(NO,), + H,0 +NO,
(E)  Question not attempted / 3TFARA ¥

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C)  F, particle (D) Centromere
(E)  Question not attempted

FIHTEN (re) 1 Ffafad § & @ o o R @) 78

(A) RS (B) ¥
(© T i (D) &
() uRaug

128 Which of the following is not a Kharif crop? -
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
frafafs # & 27 v Tl woa 7o 8
(A) 4919 (B) WaHT
(C) =s~u (D) =
(E) qaftaug

129 If ‘threat’ is coded as 289512, then *BRIDGESTONE' will be coded as:

TR “threat’ 1 %1€ # 289512 2wk farar st &, *BRIDGESTONE' W1 % g,
—A) 29947512655 29 (@) 27947513855
(C) 29947612955 (D) 28947612855

(E)  Question not attempted / Srafa wa

Alll ® 26 (P10
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Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walkgd 7 km. Then Amar turned

130
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?
(A)  3l1km . (B)  27km \O
(©)  25km ‘\,5,,’ (D) 26 km (4]
(E)  Question not attempted | ( } =<
I AR mﬁﬁwﬁaﬁmﬂmxﬁﬂm | a7t 24 Fo, ofY, wrerm st st 7 6, ofy, ST e s ata g A
7%.vﬁ.amaﬁtmaﬁ§34m4% . sre | A e aper fig @ et gl e i 0o
A) 31f% P By 27 fF o
goy s, ol (D) 26 .. 1
(E) guiaws v :
e
131 A,B,C.D, E and F are sitting in irow facing north. E and F are in the center, and A and f(lprc at the ends. C is sitting
on the immediate left of A. Whe'is sitting on the immediate right of B? <f'
A. B, C, D, E 3 F U vifts # 3wt ot i @ e 93 81 E 3z &, s A aﬁm-rnm%l C, A % & a1 T
W AT 81 B & 3k 318 T WHT ST 2?2 o0
@ D - B) E o
© A Q ®) F .
(E)  Question not attempted ﬁ“ﬁlﬂﬁﬁﬁ sy ™
132 Select the option that is related ;o ithe third letter cluster in the same way as the second le&tgr cluster is related to the
first letter cluster.
ﬁmﬁ@wﬁmmwﬁﬁmﬁﬁaﬂa wm%mmwﬁm%mmﬁm{%ﬂqqgm e AR E
Cacaty = [\
\g’SUNDS DNOSUW : : ALMIGHTY : ? o0
“GILHMATY 5 4] (B) AIGHTYLM. o
(C) AIGHLMTY (& (D) AGHILMTY i
(E)  Question not attempted /& /"ﬂ%ﬁlﬁﬁ 9 i
=l
133 There is a definite relationship between figures (i) and (ii). Establish a similar relationship between figures (iii) and
(iv) by selecting a suitable ﬁgu‘i‘e}from the options. So select a figure from the options thaf would replace question
mark (?) M <3
STF (i) aﬁt(u)%a‘}a@ﬁﬁmmél ferepet 3 | SR ST 1 T T ATHA (Y SHT (iv) 1= FHE Haw
w;ﬁamsaﬁqﬁa—«ﬁﬁazémﬁrwﬁamgmmwa. e
Problem Figure / G0&T 37T86ﬁ1 o
t «r l"“{
OL|Of? ;
04 !
\0
(i) (ii) (i) O (iv) ™M
" it
(A) 3 @ %‘% -~
e - “ o
(4 5] ™
2 i
P F -
v
(E)  Question not attempted / :ﬂaﬂﬁﬂ u4
Alll ® 27 [ P.T.O.
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)
119 _ ¢ W .

. 15
TN inator by 8%, the fraction become 1
134 Onincreasing the numerator of a fraction by 15% and decreasing its denominator by ]\6
the original fraction is:

15 4

SR g S it Fi=1 oA B ST 1 o fug

& 1 1 35 st 1596 g fom sy e e v 8, s e it 16 Ty,
[-

(A) % (B) %
5 Y ™ %

(E)  Question not attempted / Niﬂﬁﬂﬁ’ﬂ’

Amit, Sumit and Vinay divide an amount of 2 2800
amount of X 200 is added to the share of each, what will be the new ratio of their shar‘cs ?fthe_arfoum? ,
e, gl i R 2 2800 4 e A 5 1 6 03 & srgma # fersnfira e ¥ af e o e 6 2 2003y,
ATl & ok fie oy oy AT 1 Y

(A) 4:5:2

B) 6:9:4
A€ 6:7:4 (D) 7:8:5
(E)  Question not attempted / ﬂﬁﬂﬁﬁ T

amongst themselves in the ratioof 5: 6 : 3 respectively, Iz

136  Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B)  Mahatma Gandhi
(C) C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel i
(E)  Question not attempted -
T T & et IU-Jerist AR Tt e A
(A) Tt 37emg foraas (B)  wETeRT iR
(©) . v TrerET (D)  HER FEenm gy
(B) Irgafaug
137 After the partition of India in 1947, which of the following archaeological siteg remained on the Indjan side ?
(A)  Kalibangan (B)  Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
1947ﬁm%m%mﬁmﬁ«ﬁmﬁ%ﬁqm$mﬁam@mm%m€h T w0
(A)  Freftam (B) &swm '
()  wreTsiEg : (D)  Tiddraa
(E) af@awg
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B)  Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
HT AT TS £ gerieh ¥
(A) =g omn (B) &l wrar
(©) i amEr (D) HHRTATAT
(E) srqafauy
All] ® 28
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140

141

142

All] ®

Poona Pact 1932, was associated with which of the following Leaders?
(A) Mahatma Gandhi and Dr. Bhim Rao Ambedkar |
(B) Mahatma Gandhi and Muhammad Ali Jinnah

(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

(D) Mahatma Gandhi and Pt. Jawaharlal Nchru

(E)  Question not attempted

QAT EnEar, 1932 freffaa § @ f6 Yol e ar

(A) | MY ud 2 st rEat

(B)  WETCHT ikt 3 qewme aveht R

(C) . imua g ud e vl v

(D) Wt i U ufed Sareere e

(E) gaid wx

Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar © (D) Jawaharlal Nehru
(E)  Question not attempted

<fera &t wa, o wenfa fomam?

(A) HEwR et fom ‘ (B)  wETCHT At

(C) Sisfiua Tigat (D) SETEE AEE

(B) Sgai@uy

SVAMITVA Scheme is associated with

(A)  Soil conservation in rural areas.

(B)  Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted

(A)  Tmeor SRl 7 A R E

(B) YIEl s 1§ S €A

(C) T SRt 3 TS vfi T HHIR
(D) rTefioT TRt 3 wraf weT AT
(E) gaRawd

National Panchayati Raj Day is celebrated on
(A) 26 April

(C) 22 April

(E)  Question not attempted

T st o fea| il HATAT ST
(a) 2630 @) 203
© 2238« (D) 243

(B) rgafays

(B) 20 April
(D) 24 April

29
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143 Which of the following is not a Constitutional Body?
(A)  National Human Rights Commission '5:’
(B)  Union Public Scwf;’t}i‘Commission “1
(C)  Finance Cmnmissisﬁj . ,7_,;|
(D)  Election Cmnmissi[(;;}g Lﬁ
(E)  Question not mtcmPlcid ;U
QW 1 e g & -
(A) T T o B
(B) ¥ & At iy 3=
©) o amim o
O FTEIET g -
(E) 3rgaf@ws ™) i,
< B
144 The simple interest of a cerfain sum of rupees for 8 years at 7.5% annual rate is T 750§,r\)?Vhat is the simple inter,.
same sum for 8 years, if the tate of interest is increased by 2.5%? (:3
afR 7.5% e s By 8 At o R 7,500 BT ST ST 81 AfS JHT LT T =T 2.5% 721
= 8 u ﬁmmwj@w v
(A) T 12,000 ‘ (B) ¥ 20,000
(©) R 12,500 0 AB)  T10,000 (V8]
(E)  Question not attempted / A U M
=i =
145 V9 O € W 3 o a1 die ey wreay T 3 S T 6 A - T S a9
(A) e o ®) wTEwR 0
«4C) T S (D) &R g
- -
(E) ergaf@aux r—‘i ‘__%
146 ﬁnﬁr@aﬁﬁ‘ﬁaﬁw'mﬁ-ﬁwmﬁ?&z% O
(A) foar+ amesr m (B) o +omy m
(€ fEr+zm = O fg+ame o
(E) 3ryaf@uy ™ D>
o0 8}
147 Which of the following stAtement is not correct about the Chhota Nagpur Plateau lnmﬁal region?
(A) This region owes ifs"dcvclopment to being rich in iron ore from Jharkhnnd-ézijsha and coal from Da
Valley. v

(B)  This region is popularly known as “Ruhr of India”. . L
(C)  This region cxtends'%gver Jharkhand, Chhattisgarh and Andhra Pradesh. O

(D)  Ranchi, Dhanbad, J aibasa, Sindri are some important industrial centres ofut;s region.

(E)  Question not attem ted l':*

Wﬂﬁﬁmm@amm@ﬁﬁmﬂa%ﬂmﬁuﬂwﬁﬁ? o0

(A) W%Wﬁmmgp-aﬁ&mﬁ?«ha3mahwnﬁawra96ﬂﬁﬂ?‘mmg}e@;m§mg,

(B) 3% &% W & vy, @ faneama ) ™

(C) T8 &7 Inde, Bifiging s STi8T W e Bt g R v

(D) w.m,m.m.mmasmmmaam

(E) rafauy ‘
Alll ® 30 L
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148  Which of the following statement is not correct about the Tertiary Coal?

(A)
(B)
©)
)
(B

It is found in the rocks of the oligocene period of the Tertiary Era.
It is also known as the brown Coal.
It is an inferior quality Coal.

It contributes to about 25% of the total coal production of the country. |
Question not dttcmptcd '

frrferfea & 2 = AT o el v o et i a7 22

(A)
(B)
©
@)
(E)

R A I HAiferiifie et o st i rar smar 21
T8 YU HITAT 6 0 F o 1777 Sy 2

Te f= TurE e dar 2

TE 1 o FoeA AT I & 25% it 37772 27 21
AR 94

f b

149 Karewa formation are useful for the cultivation of

(A) Coffee '

(B) Zafran/Saffron ' ,
(C) Cotton

(D) Jute {
(E)  Question not attempfed

AT FAEE (FIAYE) fohereht Gt & farg st 22
(a) @ | o "
(B) %W ‘
€) =™

(D) =12

(E) rakaws

150 Which of the following river is right bank tributary of the Ganga River System?

(A)
(B)
©)
(D)
(B)

Ghaghara
Ramganga
Son ’

Gomti

Question not attempted

Freafesfia & 2 ot 71, iy 7 spomre o1 arfed) W 4 &2

(A)
(B)
©
(D)
()

o1
LU

ilc

et
FTgafe ug

All] _1 31
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